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Study the diagram given below and answer the following question.

ﬁﬁ Here, /™, — persons who takes tea

7

mm O — Persons who takes coffee
W

[] —Persons who takes wine

How many persons who take tea and wine but not coffee?

20

Find the missing character?

25200 | 5
3600 5

120 30

350
320
500

600

Though the waste of time or the expenditure on fashions is very large, yet fashions have come to stay. They will not go, come what may. However, what is now required is that strong efforts
should be made to displace the excessive craze for fashion from the minds of these youngsters.
The passage best supports the statement that:

fashion is the need of the day.
the excessive craze for fashion is detrimental to one's personality.
the hoard for fashion should be done away with so as not to let down the constructive development.

work and other activities should be valued more than the outward appearance

Statement: "You are hereby appointed as a programmer with a probation period of one year and your performance will be reviewed at the end of the period for confirmation.” - A line in an
appointment letter.

Assumptions:
1. The performance of an individual generally is not known at the time of appointment offer.

11 Generally an individual tries to prove his worth in the probation period.

Only assumption I is implicit
Only assumption I1 is implicit
Either [ or I is implicit

Both Tand 1T are implicit

Capablc: Tnept::
dependable: capricious
fallible: cantankerous
malleable: limpid

erasable: ohtuse



Correct Answer A

Marks. 1

Question Description

find odd man out

A FIK
e DGI
¢ MPR
° KND
Correct Answer o
Marks 1
*% | Queston Descripion Pointing to a man, Rohan said, “His only brother is the father of my daughter’s father.” How is the Rohan related to the man?
A Father
s Grandson
¢ Uncle
° Nephew
Corroct Answer o

Marks. 1
Question Description

Here are some words translated from an artificial language.

malgauper means peach cobbler
malgaport means peach juice
moggagrop means apple jelly

Which word could mean “apple juice”?

moggaport

malgaauper

malgaaport

moggagrop

Correct Answer A

Marks. 1

Question Description

In the following questions, fours statements are given. Three of them are related in some way. Identify the “Odd man” and mark its letter as your answer.
The scenic beauty of Kerala is a virtual treat to the eyes.
Andhra Pradesh is known for its greenery, especially the Konaseema.
1 prefer listening to classical music, which is very soothing to the ears.

Walking is generally recommended for physical fitness.

Correct Answer o

Marks. 1

Question Description

Here are some words translated from an artificial language.

relftaga means carefree
otaga means careful
fertaga means careless

Which word could mean "aftercare"?

zentaga
tagafer
tagazen

relffer

Correct Answer c

Marks. 1

2 Question Description

In the question below are given four statements followed by four conclusions numbered 1, I, IIT and TV. You have to take the given statements to be true even if they seem to
be at variance from commonly known facts. Read all the conclusions and then decide which of the given conclusions logically follows from the given statements disregarding
commonly known facts.

Statements:
All letters are words.

Some words are poems.

All poems are plants.
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Some plants are flowers.

Conclusion

1Some plants are words.
nSome plants are letters.
nSome flowers are poems.

w.No flower is word

None follows
Either 1T or IV follows
Only I follows

Only I & II follow

c

1

In the question below are given four statements followed by four conclusions numbered 1, 11, [Il and IV. You have to take the given statements to be true even if they seem to
be at variance from commonly known facts. Read all the conclusions and then decide which of the given conclusions logically follows from the given statements disregarding

commonly known facts.

Statements:
Some walls are doors.

Some doors are grills.
No grill is window.

Some windows are roofs.

Conclusions:

1 No roof is grill.
1 No window is door.
nSome window are walls.

w.Some roofs are walls.

None follows
Only I & II follow
Either I or IV follows

Either IT or IIT follows

Statement:
i. Virus has been spreading and affecting many people.
ii. Prime minister should lockdown the country.

s its cffect

If statement “i” is the causc and statement

If statement “ii” is the cause and statement “i” is its effect.

If both the “i” and “ii” are inds dent causes.

If both the statements “i” and “ii” are effects of independent causes.

What will come in place of the question mark (?) in the following number series?

312 231 296 ? 282 257

210
25
246

279

A is 2 years older than B while B is 3 years younger than C. The ratio of age of A, 6 years hence and B, 2 years ago is 5:3. What was age of C, 6 years ago?
12 years
19 years
15 years

14 vears



Correct Answer o

Marks 1

Question Description

What will come in place of the question mark (?) in the given number series?
320, 308, 284, 236, 140, ?

A 114
® 110
N 50
° 52
Correct Answer o
Marks. 1
0 QuestionDescripon In the following question, a capitalised pair of words is given followed by five pairs of words. Select from choices the pair which exhibits the same relationship as the

capitalised pair of words and mark its number as your answer.

CARPENTER : CHISEL

Teacher : Book

° Mason : Cement

N Seamstress : Needle
° Banker : Money
Correct Answer c

Marks 1

Compreersion Study the information given below and answer the questions based on it.

Nine persons -L, T, K, S, M, P, R, V and W - are sitting around a circular table, but not necessarily in the same order. Someof them are facing the centre and the rest are facing
away from the centre.

. T sits third to the right of P ands econd to the left of M.
iV sits four places away from K, who is two places away from L. S sits to the immediate right of W as well as P.
i T and W are facing the same direction.

w.P and K are facing the same direction.(i.e., if T is facing the centre, W is also facing the centre and vice-versa,if P is facing away from the centre, K is also facing away from
the centre and vice-versa).

v.Rand S are three places away from V, who is facing away from the centre.
.S is not facing the centre. M sits to the immediate right of L, who is facing the centre.

vi Exactly three consecutive persons are facing the same direction. (i.e., either facing the centre or away fromt he centre).

Question Description

Who among the following sits third to the right of V?

A S
® R
¢ K
° L
Corroot Answer s
warks '

50 comprehension

Study the information given below and answer the questions based on it.

Nine persons -L, T, K, S, M, P, R, V and W - are sitting around a circular table, but not necessarily in the same order. Someof them are facing the centre and the rest are facing
away from the centre.

. T sits third to the right of P ands econd to the left of M.

iV sits four places away from K, who is two places away from L. S sits to the immediate right of W as well as P.
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54 comprehension

Question Description

ii. L and v are lacmg the same direction.
P and K are facing the same direction.(i.e., if T is facing the centre, W is also facing the centre and vice-versa,if P is facing away from the centre, K is also facing away from

the centre and vice-versa).
v.Rand S are three places away from V, who is facing away from the centre.
.S is not facing the centre. M sits to the immediate right of L, who is facing the centre.

wi. Exactly three consecutive persons are facing the same direction. (i.e., either facing the centre or away fromt he centre).

Who among the following sits between K and L?
R

T

Study the information given below and answer the questions based on it.

Nine persons -L, T, K, S, M, P, R, V and W - are sitting around a circular table, but not necessarily in the same order. Someof them are facing the centre and the rest are facing

away from the centre.

T sits third to the right of P ands econd to the left of M.
iV sits four places away from K, who is two places away from L. S sits to the immediate right of W as well as P.

i T and W are facing the same direction.
P and K are facing the same direction.(i.e., if T is facing the centre, W is also facing the centre and vice-versa,if P is facing away from the centre, K is also facing away from

the centre and vice-versa).
v.Rand S are three places away from V, who is facing away from the centre.
.S is not facing the centre. M sits to the immediate right of L, who is facing the centre.

vi. Exactly three consecutive persons are facing the same direction. (i.e., either facing the centre or away fromt he centre).

How many persons are sitting between P and M if counting clockwise from P?
Three

Two

Four

None

Study the following carefully and answer the questions given below:

There are eight family members B, D, H, K, N, P, Q and R. N is uncle of Q, who is daughter of R. There are two married couples in the family and two grandchildren in the
family. H has one daughter and one son. B is granddaughter of P and sister of D. P is sister-in-law of N. H is not a male. Q has only one brother.

How is R related to K?

Mother

Father

Brother

Can't be determined

Study the following carefully and answer the questions given below:

There are eight family members B, D, H, K, N, P, Q and R. N is uncle of Q, who is daughter of R. There are two married couples in the family and two grandchildren in the
family. H has one daughter and one son. B is granddaughter of P and sister of D. P is sister-in-law of N. H is not a male. Q has only one brother.

How is D related to Q?

Son

Daughter

Niece

Nephew

[

1

Study the following carefully and answer the questions given below:

There are eight family members B, D, H, K, N, P, Q and R. N is uncle of Q, who is daughter of R. There are two married couples in the family and two grandchildren in the
family. H has one daughter and one son. B is granddaughter of P and sister of D. P is sister-in-law of N. H is not a male. Q has only one brother.

Who among the following is mother of B?

Q
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Marks 1

Comprehension

Study the following information carefully and answer the questions given below:

In a certain code language, ‘festival for women only” is written as ‘pa ge bo xu’ “provide peace to women’ is written as “wr dl nj ge’ “‘women like to celebrate’ is written as ‘ge ct
fx wr’ ‘celebrate peace in festival’ is written as ‘dl bo sv ct’ (All codes are two letter codes only)

Question Description

What may be the possible code for ‘provide idea” in the given code language?

A fx by
° xu bo
¢ by j
° njxu
Correct Answer c

Marks 1

Gomprahansion

Study the following information carefully and answer the questions given below:

In a certain code language, ‘festival for women only” is written as ‘pa ge bo xu’ ‘provide peace to women’ is written as “wr dI nj ge’ ‘women like to celebrate’ is written as “ge ct
fx wr’ “celebrate peace in festival is written as “dl bo sv ct’ (All codes are two letter codes only)

Question Description

What is the code for ‘celebrate’ in the given code language?

ct
e wr
¢ sv
° d1
Correct Answer A

Marks 1

Comprehension

Study the following information carefully and answer the questions given below:

In a certain code language, ‘festival for women only” is written as “pa ge bo xu’ ‘provide peace to women” is written as “wr dl nj ge’ “'women like to celebrate’ is written as “ge ct
fx wr’ ‘celebrate peace in festival’ is written as ‘dl bo sv ct’ (All codes are two letter codes only)

Question Description

In the given code language what does the code ‘pa’ stand for?

peace
® either “for’ or “‘only’
¢ either ‘women” or "to”
° celebrate
Correct Answer s

Marks 1

Comprehension

Give an input, a machine generates pass codes for the six batches each day as follows:
Pass Codes:

Batch I: from sea the out taken were icons these

Batch II: from icons these were taken out the sea

Batch III: from icons out sea the taken were these

Batch IV: from icons out sea these were taken them and so on.

First batch starts at 10.00 a.m. and each batch is for one hour. There is a rest period of one hour after the end of the fourth batch.

Question Deseription

The pass code for the first batch on a day was ‘he so used to sell the surplus items’. What was the input on the day?
he items surplus the sell to used so
s0 used to sell the surplus items he
items surplus the sell to used so he

cannot be determined

Correct Answer o

Marks 1

59 comprehension

Give an input, a machine generates pass codes for the six batches each day as follows:
Pass Codes:

Batch I: from sea the out taken were icons these

Batch II: from icons these were taken out the sea

Batch III: from icons out sea the taken were these

Batch IV: from icons out sea these were taken them and so on.
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Question Deseription

First batch starts at 10.00 a.m. and each batch is for one hour. There is a rest period of one hour after the end of the fourth batch.

If the pass code for the batch at 1.00 p.m. on a day was ‘back go here people who settle want to’. What was the pass code for the batch at 3.00 p.m. on that day?
back go here people to want to settle who

back go here people settle who want to

back go here people settle to want who

cannot be determined

Give an input, a machine generates pass codes for the six batches each day as follows:
Pass Codes:

Batch I: from sea the out taken were icons these

Batch II: from icons these were taken out the sea

Batch III: from icons out sea the taken were these

Batch IV: from icons out sea these were taken them and so on.

First batch starts at 10.00 a.m. and each batch is for one hour. There is a rest period of one hour after the end of the fourth batch.

What will be the pass code for the batch at 3.00 p.m. if input is “four of the following five form a group’?

a five following form group the of four
a five following form four group the of
a five following form four of the group

a five following form four group of the



